FAMILIARISATION ANSWER SHEET — MATHEMATICS 1 GL

Assessment
- -
|
Pupil's Name Date of Test
School Name DATE OF BIRTH -
Day Month Year
I -
PUPIL NUMBER 0C MBER
101 01| January | 2002 -
111 t11| February 1| 2003 =
101 101 t01 101 01 101 £01 01 01 01 01 01 01 121 121} March 1| 2004 -
t11 011 011 111 111 €11 11 111 111 111 111 111 131 £31| April 1| 2005 =
Please mark boxes [21 121 121 121 121 121 121 121 121 121 121 121 121 41| May 1| 2006 -
- - - 131 131 131 131 131 131 £31 131 131 €31 131 131 131 51| June | 2007 -
WIth a thln horlzontal 141 141 141 141 141 1h 41 141 141 141 141 14 th 61| July —1| 2008 -
H H 1 (51 (51 (51 (51 (51 (51 [51 151 151 51 (51 (51 (51 (71| August | 2009 —
Ilne Ilke thls =. 161 161 61 (61 161 [61 161 161 161 61 161 [61 161 81| September | 2010 = =
171 171 t71 171 (71 171 171 171 171 171 171 171 (71 191/ October | 2011 =
181 181 81 181 81 181 £81 181 181 181 181 181 81 November | 2012 =
191 191 191 191 191 191 191 191 191 191 191 191 N December 1| 2013 =
5190 — 05 7thousands 6,1 367 10 145m % —
5019 1 = 7 hundreds (1,6) 368 9 1.63m 1
519 3 O Ttens (5,6) 365 8 1.65m ™
51009 4 7ones [ 6,3) 369 6 1.405m % ]
5109 — 6 7thousandths (1,7) — 366 4 1.603m 1
y ]
3
W 1
123 19 031 6.5 hours 4weeks 12 20cm 21 45mins
0 1 = 0251 7hours 8weeks 15 10cm 3B 55 mins 1
0.1 -1 400ml 7.5hours Jweeks 18 15cm 37 65mins
05 21 0351 8hours 10 weeks 21 5cm 54 — 75mins
1 = -19 200ml 85hours 14 weeks 24— 12cm 55 95 mins
(4,5 40 mph A 6 mins 1% 2weeks [ £390 A 4
(4,3) 60 mph B 10 mins 5% 3weeks £1.95 B 5
(2,3) 70mph [ 13mins 10% 4weeks [ Bp C & 6
(2,5) 80 mph D 16 mins 20% 7 weeks 3%p D 7
(5,2) 90 mph E & 26 mins 1 50% 8weeks [ 29 E O 15
Tmins £280 036 1850 12 3168 A 378C | |33+ +
13mins £340 0.036 1875 18 3173 B 475°C — 7531 1
15mins £350 36 1895 22 7920 C 345°C s 427
16 mins £420 — 360 1900 — 24— 7925 D 37.2°C % % % % % —
17 mins £4.40 366 1910 26 7950 | 405°C 731 5 1
Tr78 71
75131
| | | T8 244
4kg 5 O 21 boys 5 9 O 4012 — A 6250 —
45kg 6 18 boys 25 12 412 B 6255
40kg 9 16 boys 21 15 4642 — C 625
4000 kg 18 14boys 215 16 4102 — D 6.25
4500kg 21 9boys 30 18 5002 — E = 0.625
36 crates I 2hours 21 bicycle 2times 12runs kite
37 crates 4hours 37 o bus 3times 13runs parallelogram
38 crates I 6 hours 127 car Atimes 14runs square [
47 crates 8hours 137 train 6times 15runs rectangle
48 crates 10 hours 687 walk 8times 16runs trapezium
- -
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